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#property link ttps //Zyuniix com/”
#iproperty version  “1.00”

#property strict

[/===3 T A= R —FE

sinput int MagicNumber=2021; //

/Yy I F T A—
input int Slippage=10; J/AY y RX—Y
input double Lots=0.01; //a vy
input int TakeProfit=100; //FIHENR (pips)
input int StopLoss=50; //ﬁ%LU$m(p1ps)
input bool TrailingSwitching=true; // s L —1 > 7 (On=true;0FF=false)
input int TrailingPips=20; J/hL—1Y 7 2y 7lE(pips)
input string comment="BB Cross 7Zn”; //a A b

//——=TFFIER

enum MethodChange { o
MarketFollower, //IE5R 0
Contrarian, //IIFK
Doten // KT

}s
input MethodChange Methodlnput =MarketFollower; // T-7Li#4
[/ T — X —iKE

input string BB=""; J/RY Y e — YR

input int BBPeriod=20; //EHﬁﬁ

input int BBDeviation=2; / /i %

input ENUM . APPLIED PRICE BBPrice=PRICE CLOSE; //f +

input string MA="" /| FEH) T 14
input int MAPeriod=5; / /¥

input ENUM MA METHOD MAMethod=MODE SMA; VIWiRiS

input ENUM_APPLIED PRICE MAPrice=PRICE CLOSE;  //ffik%
[/———7" a7 5 hERCHET 2R

double Pips;

;nt SLP;

//
int Onlnit (O { J/EAE N —FE R TEI7a s 5 A

Pips=AdjustPoint ( Symbol) ;
SLP=(int)AdjustSlippage ( Symbol, Slippage) ;

return (INIT SUCCEEDED) ;

//
void OnTick() { //T 4y 0% ETBECHL T 0ns 5 A

//hL—U T ANy T
if(TrailingSwitching) {
int sec=TimeSeconds (TimeGMT()) ;
if(sec==0 || sec==30) {
} TrailingStop() ;
}

WENAERY X+
int BuyPosition=Position(l);
int SellPosition=Position(-1);

//T > b —HE
int Entry=0;
int Closed=0;

J/EERD v vy 2
if (MethodInput==MarketFollower) {
if (BuyPosition==0) {
if (BBCross1 ()==1)0penOrder (1) ;
Jelse{
if (BBCross2()==1)CloseOrder (1) ;

}
if (SellPosition==0) {

if (BBCrossl()==-1)OpenOrder (-1) ;
Jelse

if (BBCross2 ()==-1)CloseOrder (-1) ;

Jelse
if (MethodInput==Contrarian) {
if (BuyPosition==0) {
if (BBCross1 ()==-1)0penOrder (1) ;
Jelse{
if (BBCross3()==1)CloseOrder (1) ;

}
if (SellPosition==0) {

if (BBCrossl1()==1)OpenOrder (-1) ;
Jelse

if (BBCross3 ()==-1)CloseOrder (-1) ;

Jelse
if MethodInput= Doten){
if (BuyPosition==0) {
if (BBCrossl ()==-1)OpenOrder (1) ;
Jelse{
if (BBCross1()==1) {
CloseOrder (1) ;
OpenOrder (-1) ;

}
if (SellPosition==0) {
if (BBCrossl ()==1)0penOrder (-1) ;
Jelse{
if (BBCross1()==-1) {
CloseOrder (-1) ;
OpenOrder (1) ;
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}
}

}//0nTick
//

void OnDeinit (const int reason) { //EAHIEIRFC feiZicihd 7 a7 7 A

////
WERWI S L
NEPERS L
double AdjustPoint (string Currency) {
int SymbolDigits=(int)MarketInfo(Currency, MODE DIGITS) ;
double CalculatedPoint=0.0;
if (SymbolDigits==2 || SymbolDigits==3) {
CalculatedPoint=0.01;
Jelse
if (SymbolDigits==4 || SymbolDigits==5) {
CalculatedPoint=0. 0001;

return(CalculatedPoint) ;

[/ Ay XU
double AdjustSlippage(string Currency, int SlippagePips) {
double CalculatedSlippage=0.0;
int SymbolDigits=(int)MarketInfo(Currency, MODE DIGITS) ;
if (SymbolDigits==2 || SymbolDigits==3) {
CalculatedSlippage=SlippagePips;
Jelse
if (SymbolDigits==4 || SymbolDigits==5) {
CalculatedSlippage=SlippagePips*10;

return(CalculatedSlippage) ;

e EDE &3¢
int Position(int PositionDirection) {
int res=0;
for (int i=0;i<OrdersTotal () ;i++) {
if (OrderSelect (i, SELECT_BY_POS, MODE_TRADES)==true) {
if (OrderSymbol ()== Symbol && OrderMagicNumber () ==MagicNumber) {
if (PositionDirection==1) {
if (OrderType ()==0P BUY)res++;
Jelse
if (PositionDirection==-1) {
if (OrderType ()==0P SELL)res++;

}
}

return(res) ;

/Ry aryzy by —%
void OpenOrder (int EntryPosition) {
int res=0;
double TP=TakeProfit*Pips;
double SL=StopLoss*Pips;
if (EntryPosition==1) {
| res=0OrderSend ( Symbol, OP BUY, Lots, Ask, SLP, Ask=SL, Ask+TP, comment, MagicNumber, 0, clrBlue) ;
else
if (EntryPosition==-1) {
res=0rderSend (_Symbol, OP SELL, Lots, Bid, SLP, Bid+SL, Bid-TP, comment, MagicNumber, 0, c1rRed) ;

}

/Ry ay o —X M
void CloseOrder (int ClosePosition) {
int res=0;
for (int i=OrdersTotal )-1;i>=0;i—) {
if (OrderSelect (i, SELECT BY POS, MODE TRADES)==true) {
if (OrderSymbol ()== Symbol && OrderMagicNumber () ==MagicNumber) {
if (OrderType ()==0P BUY && ClosePosition==1) {
} res=0rderClose (OrderTicket (), OrderLots (), OrderClosePrice (), SLP, clrMagenta) ;
else
if (OrderType ()==0P SELL && ClosePosition==-1) {
\ res=0OrderClose (OrderTicket (), OrderLots (), OrderClosePrice (), SLP, clrMagenta) ;

}
}
}
}

J//hL—U T ANy T
void TrailingStop() {
double TSP;
int res=0;
for (int i=OrdersTotal )-1;i>=0;i—) {
if (OrderSelect (i, SELECT BY POS, MODE TRADES)==true) {
if (OrderSymbol ()== Symbol && OrderMagicNumber () ==MagicNumber) {
if (OrderType ()==0P BUY) {
TSP=Ask-TrailingPips*Pips;
if (OrderOpenPrice ) <TSP && OrderStoplLoss () <TSP) {
res=0rderModify (OrderTicket (), OrderOpenPrice (), TSP, 0, 0, c1rYellow) ;

Jelse
if (OrderType ()==0P SELL) {
TSP=Bid+TrailingPips*Pips;
if (OrderOpenPrice ) >TSP && OrderStoplLoss () >TSP) {
res=0OrderModify (OrderTicket (), OrderOpenPrice (), TSP, 0, 0, clrYellow) ;
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}
}
}
}
}

J/RY) v y—nNy 7oA (JE)

int BBCross1() {
int judge=0;
double MA1=iMA( Symbol, 0, MAPeriod, 0, MAMethod, MAPrice, 1) ;
double MA2=iMA ( Symbol, 0, MAPeriod, 0, MAMethod, MAPrice, 2) ;
double BUl=iBands( Symbol, 0, BBPeriod, BBDeviation, 0, BBPrice, MODE UPPER, 1) ;
double BU2=iBands( Symbol, 0, BBPeriod, BBDeviation, 0, BBPrice, MODE UPPER, 2) ;
double BL1=iBands( Symbol, 0, BBPeriod, BBDeviation, 0, BBPrice, MODE LOWER, 1) ;
double BL2=iBands( Symbol, 0, BBPeriod, BBDeviation, 0, BBPrice, MODE LOWER, 2) ;

if (MA2<=BU2 && BU1<MA1) judge=1;
if (MA2>=BL2 && BLI>MA1) judge=-1;

return (judge) ;

J/RY Y e—nNY R a R (i)

int BBCross2() {
int judge=0;
double MA1=iMA( Symbol, 0, MAPeriod, 0, MAMethod, MAPrice, 1) ;
double MA2=iMA ( Symbol, 0, MAPeriod, 0, MAMethod, MAPrice, 2) ;
double BUl=iBands( Symbol, 0, BBPeriod, BBDeviation, 0, BBPrice, MODE UPPER, 1) ;
double BU2=iBands( Symbol, 0, BBPeriod, BBDeviation, 0, BBPrice, MODE UPPER, 2) ;
double BL1=iBands( Symbol, 0, BBPeriod, BBDeviation, 0, BBPrice, MODE LOWER, 1) ;
double BL2=iBands( Symbol, 0, BBPeriod, BBDeviation, 0, BBPrice, MODE LOWER, 2) ;

if (MA2>=BU2 && BU1>MAL) judge=1;
if (MA2<=BL2 && BL1<MA1) judge=-1;

return (judge) ;

}

J/RY Y e—nNY 7oA ()
int BBCross3() {
int judge=0;
double MA1=iMA( Symbol, 0, MAPeriod, 0, MAMethod, MAPrice, 1) ;
double MA2=iMA ( Symbol, 0, MAPeriod, 0, MAMethod, MAPrice, 2) ;
double BM1=iBands ( Symbol, 0, BBPeriod, BBDeviation, 0, BBPrice, MODE MAIN, 1) ;
double BM2=iBands( Symbol, 0, BBPeriod, BBDeviation, 0, BBPrice, MODE MAIN, 2) ;

if (MA2<=BM2 && BM1<MA1) judge=1;
if (MA2>=BM2 && BMI>MA1) judge=-1;

return (judge) ;
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